1. {a) Expandand simplify /"/\-\ /',.\/—\
[0t e = 124 5(2a - c) + 43+ 3e)
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Answer 5770

(b)  Solve Tl
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2, Onthe grid draw the graph of y = 2¢ + | for values of x from 0 Lo 5.

. On the grid below draw the graph of y = 3x — [ for values of x from (10 5.
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) First complete the table of values X N R S S, B i The distance-time graph shows the journey of a train between two stations.
¥ I 3 5 7 G‘ Il The stations are 6 kilometres apart. {
b) Plot the points and join them in a straight line \ i
& 6 T

¥4 < i 54— ——— — |
17 . Distance  *7]
1A {killomelms} |—

3 ——
10 -
18 S — | —
94
| [ o I

4

i o 2 5 7 '

6 Time (minutes)

54 (a)  During the journey the train stopped at a signal. For how long was the train stopped?

4 ADSWET v BRSO 11,11 =13

i (b)  What was the average speed of the train for the whele journey? Give your answer in kilometres per '
’ hour. i - - / t
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1 OR_

O. L X 60 V—M/hM Angwer 3(° kilometres per hour
[ T T T 1 r

e B W /MO

4, Solve the cquations

» Qo= 29:=%
(a) —=4 q._

Answer x = )L - S.
() Fes=9 H_:ol'g V=4 vs 1.

(©) Ae-1)=2z+3)
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